



Your Investment. Our Operations. It's That Simple!

www.bnbnetwork.com/partnership

Contact us to get started today! BNBNetworksLLC@gmail.com or call (602) 620- 9887 www.bnbnetworks.com click on "Partnership"

Affiliate Partner Investment Program

Ref: Pre-Seed Funding and Debit Investment Round 1

Help Us Pay Our Contractor's Faster and Get 10%-20% Return on your Investment.

BNB Networks is excited to announce our new **Affiliate Partner** Investment Program. Established in 2019, BNB Networks LLC has realized progressive growth from a simple unit turn and cleaning business to now an e-Facility Support Service Provider that specializes in overseeing turn operations for commercial facilities, property management companies and Housing Authority Agencies nationwide. Powered by our CMMS technology platforms and Contracted Affiliate Network, BNB Networks has successfully awarded over \$7.5 Million in contracts nationwide to our Affiliates from our commencement in 2019 to now. Our current service areas include IL, VA, NJ, AZ, AL, GA, TN, LA and FL.

Our primary objective, and founding mission, is to offer contracted opportunities to Section 3 certified small businesses, MBE, WBE, and Minority Owner business. To date, we have honored our commitment to building and support the communities we service.

We believe in our vision and the solution-based value we have established for our clients. To foster growth and support our business operation objectives for the next 5 years, we now invite you to become an **Affiliate Partner** to assist with our future growth and expansion efforts. As an **Affiliate Partner** you will have the opportunity to invest in a company that values partnerships and streamlining facility maintenance systems using technology for all real estate strategic partners and portfolios nationwide.

For this **First-Round Pre-Seed Funding** opportunity we would like to offer you the following benefits. Your investments will be utilized to assist with operating costs, paying our Affiliate Contractors faster, support our marketing efforts to onboard more clients, and hire top-notch talent.

Affiliate Partner Annual Membership Fee:

- Affiliate Partner Annual Membership Fee \$299
- Access to our CRM to invest
- Assigned BNB Investment Partner
- Monthly Investment Reports

Debt Investing with Interests:

After a contracted affiliate completes a
work order your investment will help us
pay them faster. As a result you will get:
10% interest on work orders over \$2,500
and 20% interest on work orders under
\$2,500

ROI Net Terms:

- Net 30, Net 45, Net 90, Net 120
- Net terms depend on total payout
- Payments are processed through Gusto ACH Direct Deposit

Net terms depend on "Service Ticket" total. The higher the service ticket investment shall result in a longer Net Term before your principal and interest is returned. Once BNB Networks receive payment from client we will immediately process your investment return using Gusto ACH Direct Deposit.

Affiliate Partner Short-Term Loan Program:

• You can now loan BNB Network LLC a short-term loan starting at \$2,500 receive interests and principal payments over 3,4, 6, 8, 12 months. Interests will be at 5%-10% per loan.

Short Term Operations Lending

Loan	Interest Rate	Interest Amount		Interest + Loan		Monthly Term	Monthly Payment	
1000	5%	\$	50.00	\$	1,050.00	3	\$	350.00
2000	5%	\$	100.00	\$	2,100.00	3	\$	700.00
3000	5%	\$	150.00	\$	3,150.00	3	\$	1,050.00
4000	5%	\$	200.00	\$	4,200.00	3	\$	1,400.00
5000	5%	\$	250.00	\$	5,250.00	4	\$	1,312.50
6000	5%	\$	300.00	\$	6,300.00	4	\$	1,575.00
7000	5%	\$	350.00	\$	7,350.00	4	\$	1,837.50
8000	5%	\$	400.00	\$	8,400.00	6	\$	1,400.00
9000	5%	\$	450.00	\$	9,450.00	6	\$	1,575.00
1000	6%	\$	600.00	\$	10,600.00	6	\$	1,766.67
11000	6%	\$	660.00	\$	11,660.00	8	\$	1,457.50
12000	6%	\$	720.00	\$	12,720.00	8	\$	1,590.00
13000	6%	\$	780.00	\$	13,780.00	8	\$	1,722.50
14000	6%	\$	840.00	\$	14,840.00	8	\$	1,855.00
15000	7%	\$	1,050.00	\$	16,050.00	12	\$	1,337.50
16000	7%	\$	1,120.00	\$	17,120.00	12	\$	1,426.67
17000	7%	\$	1,190.00	\$	18,190.00	12	\$	1,515.83
18000	7%	\$	1,260.00	\$	19,260.00	12	\$	1,605.00
19000	8%	\$	1,520.00	\$	20,520.00	14	\$	1,465.71
20000	8%	\$	1,600.00	\$	21,600.00	14	\$	1,542.86
21000	9%	\$	1,890.00	\$	22,890.00	14	\$	1,635.00
22000	9%	\$	1,980.00	\$	23,980.00	16	\$	1,498.75
23000	9%	\$	2,070.00	\$	25,070.00	16	\$	1,566.88
24000	9%	\$	2,160.00	\$	26,160.00	16	\$	1,635.00
25000	10%	\$	2,500.00	\$	27,500.00	16	\$	1,718.75

Semi-Annual Capital Commitment:

In addition to having the opportunity to receive interest on your investment. All Affiliate partners are required to make Capital Commitments as investors to assist with operations and BNB Networks growth. **These Semi-Annual contributions are without interest.**

- Affiliate Partners can invest a minimum of \$1,500+ every six months. Investment will be used for marketing, sales, hiring new team members, and operations expenses. This crowd funding investment does not come with interest but rather a tier-based program. Equity will be awarded based on tier investment
- Your contributions will assist with increasing our sales efforts, which shall result in the opportunity for you to make more money on service tickets you invest in from new clients.
- Semi-Annual contributions must be submitted in January and June.
- Affiliate Partner member terms are one year
- Affiliate Partner must attend investment calls
- Affiliate Partner shall remit Capital Contribution on or before the investment calendar; or when Capital Contributions are requested to fund BNB Networks' operations.

Become A Network Partner Today. To Get Started: www.bnbnetwork.com/partnership